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Syllable Structure in English

1- What Does Syllabification of a Word Mean?

- Words can be cut up into units called syllables. ¢hlid) = Syllables
- Humans seem to need syllables as a way of (Hpaans) a2 e di s ghlie ) a2
segmenting the stream of speech and giving it a b 5 o8 U el o
rhythm of strong and weak beats, as we hear in
Music Clafind Ao a0l 2SI 3 45 gl 45 a1l
' S dallaal Jial
- Syllables exist only to make speech easier for . . o .
the brain to process Sl e aaly bl e g sin Bl RS
. ' ST g an) g adafia | 03 g g (e Y
- A word contains at least one syllable. ol g ot 00

2- Here are some words divided into their component syllables (a period is used to mark
the end of a syllable): period= 4ksi =,

tomato = to.ma.to
window = win.dow

3-
Syllables and their parts
— &l g i Rhyme ———
Syllables O\
Parts Onset rhyme nucleus & ™ coda
Dot the beginning sounds the rest of the the core or essential part | The last consonants
syllable, after )
of the syllable of a syllable in syllable
the onset
Type of ) These are most vowels.
sound These are always s lge 5 And this consonants [], They are always
consonants coda s nucleus consonants
[11. [m], [n], [n]
Example Read, flop , strap flop , strap Basic, depend Basic, depend
4-
::\.46.4 <Uaada
o Not all syllables have all parts; the smallest possible syllable contains a nucleus

only.
e A syllable may or may not have an onset and a coda.
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e The English liquids [ r | ] and the nasals [ m n ] can be the nuclei of syllables under
certain conditions. [ r | can be a nucleus as easily as a vowel, in any position: the
words 'bird’, have [ r ] as the nucleus; in other words, there is no vowel in the
pronunciation of these syllables, even though they have one in the spelling.

[brd]

0 WY vowel Gioa 058 71 ¢ A4Sl Lgd Capal) S5 AaK Lisaga s Al il Gisea
G (S O peally 43U die ) gl 5 & geaS dre Jalai 21 ) CojaS dae el 71 le Allalla
nucleus uadh(\éc OsSh Qi Ay thﬁ.d\ Qi Al ddaada g «ﬂ);.m

e [I]and the nasals [ m n ] become syllable nuclei when they follow an alveolar
consonant in the last syllable of a word. This happens in the relaxed or casual rather
than very formal articulation of the word. Compare casual vs. formal pronunciations
of 'button’, 'bottle’, 'bottom'.

13} Ladé 4lall o3a 5 alveolar consonant = 13) syllable nuclei ¢S5 [I] [m][n] <l sa)

A 8 pdaie AT 3 Calla con

alveolar consonant =(/t/, /d/, /s/, /z/, In/, /I/)

5-The core syllable: is made up of a Nucleus preceded by an Onset

syllable=gdaiall Jidi g 3821

/\.

onset d i nucleus 4 3«

1w .
consonant- 5 | C V < vowel 4 a5

1daga <Uaada

- Some languages only have CV syllables.

- More commonly, languages allow for syllables of greater complexity.

- The core syllable is, however, found in every language.

- The fact that CV syllables are cross-linguistically attested offers an interesting parallel
with their invariable occurrence in early child language.

6- Linguists often use tree diagrams to illustrate syllable structure.
'Flop', for example, would look like this (the word appears in IPA symbols, not English

spelling).
o S O R N C
J lais/ Syllable Onset Rhyme Nucleus Coda
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Sl 'Flop' dalS Jia

o
o/ \R
' '
C Vv

< N\ N\
l l N C
a Pl
The syllable structure analysis of the words 'read’, 'flop’, 'strap'and

'window' are as follows (IPA symbols are used to show the sounds
in the word/syllable):

read = one syllable
Onset=r]
Rhyme=[id] (withinthe rhyme:)

window = 2 syllables
Nucleus =[1i]

First
Coda =[d]
ﬂnp;nne E\rllfalble Onset = [w ]
RES:E_E [ a]p] Rhyme =[1n]
MNucleus = [a] Nucleus =[ 1]
Coda = [p] Coda =[n]

Second syllable: [d
o]
Onset=[d ]
Rhyme=[ 0]
Nucleus =[ 0]
(This syllable has no coda)

sAage cildiadla

a- If a syllable has the coda, it is called as closed syllable
Example : cap, sit, man

b. If a syllable doesn’t have the coda it is called as open syllable.
Example: he, she, me
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Exercise: Analyzing the syllable structure of English words

Using the models on the 'Syllable structure in English' page for the words 'read’, 'flop', and 'wind
analyze the following words into their syllable structure. (See Slide 14)

(1) Write the word with periods between the syllables; use IPA symbols - Ex. 'baby' = [ be.bi ]
(2) List and identify the parts of each syllable

Remember that diphthongs

Ex.: 'boondocks' = [ bun.daks ] count as single vowel
Firstsyllable: [bun] segments.
Onset [b] Here are your words:
Rhyme[un ]
Nucleus [ u] (1) playdough
Coda [n] (PARGENS
Second syllable: [ daks ] .
(3) nondescript (take your
Onset [d] timel)
Rhyme[ aks ] (4) toys
Nucleus [a] Y
Coda [ks] (5) straw

(6) plastic
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